3 (Sem-4) ECO M 2
2019

ECONOMICS
( Major )
Paper : 4.2

( Intreduction to Development Economics )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O SPICRE T fi

(a)r Who of the following was not a classical
economist?

e TeEy 99 (@ e Seaieln
ifRe 2
(i) Adam Smith
e Y
(i) Thomas R. Malthus
A6 €. H=A®
(iii) John Stuart Mill
& 8416 e
(iv) J. M. Keynes
@, 99, (T
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(b)

(©

(@)

(e)

(9)

()

A9/927

(2)

Cite an- example of ‘growth without
development’.

‘TR R b1 T |

What do you mean by Marginal
Efficiency of Capital (MEC)?

Teeq 2R el e [ g2

What is the end result of development
activities in the classical model?
SeFifre wEe Sma FrRiEaE oF ofRam &2
Define Inequality-adjusted Human
Development Index (IHDI).

(- SICAIEe TE TRg o i i |
On what basis are the countries
classified as developed and developing?
e fRfee orries S e Smeae 2o
fRoe 341 =2 '
How does neutral technological progress

result in shift of Isoquant?

e IRER e RaéE e
e @21 e sfeada =59

What is ‘population dividend’?

“sfofcerde feferee’ %2

( Continued )



(3)

() How many countries are included in

HDI 2018?
T T s, 20189 ReAmE ¢ TS
39 (=7

() Suppose, investment in an economy is
32% (of GDP), and the economic growth
corresponding to this level of investment
is 8%. Calculate Capital Output Ratio.

g weifos Rfame txw 32% (P T
o) W @3 Rfvcmss Redice sdtafes
T 2W 8% BT TRA TATH SeTe T
il

2. Answer the following questions : 2x5=10
O PCARA B fi

(a) State Adam Smith’s idea of ‘division of
labour’.

S P2 =fAerae 4= SEy 99 |

(b) What do you understand by the concept
of the ‘low level equilibrium trap’?

“fAFE ST T RN Al e ?
(c) Why is it important to express GNI per

capita in purchasing power parity (PPP)
international dollars?

P wem W (GNI) R wRsIEE Ju@H
ZEETON TOTS L FIICO ACHEH ?
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()

(d) State two features of economic
development.

weftafos CaaeE 4ol (AMIET Seae 91 |

(e) Write two causes of reduction in
economic inequality with development.
T e WSS (T 2 (BRR {51 TR
ferr |

3. Answer any four of the following questions :
5x4=20
o ePCRR i e wifRbE Tee fr

(a) “Population is wealth to a nation or may
be liability.” Explain the statement in
the light of Indian experience.

PRI @ BT I T L @& 2
eq |7 SRSA “bge Sfech s 41 |

(b) How does vicious circle of poverty arise
due to market imperfection? Explain.
IR HofeR @ [mE vigeR cibge
T 2 2 5 F4

(c) State the essence of the ‘instability
problem’ in Harrod-Domar growth
model.

(ZRC-T9 SR WIEY SfEge Surs e
FRY SCFY T4 |
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(5)

(d) What is a ‘stationary state’? Why did
Ricardo predict a stationary state for an

economy?
T wEE’ B0 Rondia Ry ggm 9dRifss
3 FHe wawE S $fRfke 2

(e) Discuss the role of technology in
economic development.

g Tmme IR GPEE S
eS|

() Identify the obstacles to economic
development in developing nations.

TE 989 SYAes e dAfeaeertR
fomre 41 1

4. Answer the following questions : 10x4=40

woq AT Teq i

(a) Explain the three components of human
development index (HDI). What are the
steps that India needs to undertake to
improve its overall position in HDI?

6+4=10

eE e P Topie feftr e w0
TR WA M TwE Ppe CaleFe® I
5 & MOS 229 FACO! ACE 2
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(b)

A9/927

(6)

Or / %471

Discuss the role of capital as a
determinant of economic development.
Why is the rate of capital formation low
in India? 8+2=10

weftfor T fraRe ot e i
AL 90 | SEOH© FEq T TR
o2

Explain the meaning of
underdevelopment. Briefly discuss the
meaning of backwash effect. 5+5=10

SePROR Y A0 T PR T
T 7 BYLF SCELA A1 |

Or / B[l

Describe briefly the various definitions
of the term development. What are the
strengths and weaknesses of each
approach? - ALE

T e REPIgR 5Y0E 3961 90 | SfCeRed
STl S [P 6 2

( Continued )



(7)

(c) Explain the Arthur-Lewis model of
unlimited supply of labour. How far is
this theory applicable to overpopulated
underdeveloped countries? 6+4=10

weff-o2d AEFT SN G ST DR
91| @3 HIEG T SEPH (R AE

T 2fcren 2

Or / 92€1

What do you mean by the ‘process of
cumulative causation’? How this term
has been used by Myrdal to explain the
development differences? 4+6=10

FyEhe sEeR e’ ea Fo3W?
ﬁwwmmeaimm
faca TR 0 ?

(d) What do you understand by the concept
of ‘balanced growth’? Explain the
relevance of balance growth theory for a
country like India. 2+8=10

oo S I R Y SRR T
@ o CRas e T O PRl

R [GILTIEEIR
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(8)

Or / J2qT

Elaborate the concept of unbalanced
growth’ in terms of ‘social overhead
capital’ and  ‘directly  productive
activities’. 10

FHIGE From e W ders SRAmRe
IAEA’T WHURO PR S {RECH
JZE2 fe |

* & Kk
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3 (Sem—4) ECO M 1

2019

ECONOMICS
( Major )

Paper : 4.1
( Mathematical Application in Economics )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
were WaCaIes e St Tes faa -

(a) The demand curve P =a under perfect
competition has infinite price elasticity
of demand.

( Write True or False )

o AfSTfroRER IS BT @X P =ad W
vifEn Efegree w15 |

(o= ¢ srom forn )
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(b)

()

(d)

(e)

A9/926

(2)

If price elasticity of demand (ey)>1,
MR <0.
( Write True or False )

it 74 iR gl (ey) > 1, MR <O.
(w7 & o ford )

The Cobb-Douglas production function
0=AK*LP is homogeneous of degree

( Fill in the blank )

FA-GIEAS SCNAT S Fo Q = AK “LP
T |
( et 7% =@ = )

State the conditions of point of inflexion
of a function.

91 T 79 RE ootz Soad 40 |

Consumer’s surplus = — Price (P) x
Actual quantity demanded (Q)
( Fill in the blank )

ﬁ;ﬁt@@ﬁ‘“@i‘= __ —TA(P) x 4TS
BIfEAE «f{19 (Q)
(=<1fet 3% o =41 )

( Continued )



(9)

v

()

A9/926

(3)

Determine the marginal propensity to
save (MPS) from the consumption
function C=50+0-6Y, where C is
consumption and Y is income.
TSl T C=50+0-6Y 'S C 9 Tofcss|
IE Y 9 HR @R AME ALY 27l
(MPS) Tfeiea |

If marginal revenue function is given as
MR=40-0-60, find TR function.

fit A S ¥ MR=40-0-6Q =, T
I T (TR) ey <541 |

State Euler’s theorem.

BTHART THAMICO! Sy 47 |

Construct the dual of the LP problem :
Maximize © = Bx
subject to
Ax<r
and x=0
oo fr (AT FRER (7o (dual) wEICH
ferat -
Maximize m = Bx
subject to
Ax<r

and x>0

( Turn Qver )



(4)

() Who has written The Theory of Games
and Economic Behaviour ?

The Theory of Games and Economié
Behaviour (1t foififes 2

2. Answer the following questions : 2x5=10
wee il 2ERE Ted ford

(a) What is pay-off matrix?

Pay-off (Teies 2

(b) Distinguish between feasible solution’
and ‘optimal solution’ in a linear
programming model.

aRe FHFH dAR SRR S’ HIE A9
ST’ I ATST (€] |

a+c

b+d

the effects of increased values of aand b
on equilibrium price.

(c) If the equilibrium price is P = . find

T ST ™ P=27C uy, s wed
b+d
S8 a FF b I @7 Ae[Er g w41 |
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(S)

(d) Find the equilibrium income (¥) and
consumption (C) from the following
national income model

C=150+0-7Y
I, =200, Gy =150

where Y, C, I, and G, denote national
income, consumption, investment and
government expenditure respectively.

wee T Sre SEY SRR o[l SR S
(¥) == Topgsrs (C) ey <=0
Y=C+Iy+Gg

C=150+0-7Y
IO =200, GO =1SO

TS Y, C, I, 9F Gy 9 INEH oy o,
Tepcersl, RfFcns s el 9 iR |

(e) The marginal cost of a firm is given by
MC =3g2 -10g +6 with total fixed cost

equal to 100. Find the average cost (AC),
when output g =5.

@ 9w AfvER afes I it
MC =3g* -10g+6 WF T &9 | &”
100. % I@ (AC)T I fadfy <1 c@fewm
T g =5 2 |
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(6)

3. Answer any four of the following questions :

S5Sx4=20
oS AT pTEd {1 viRem e fofa
fa) By using product rule of differentiation,
prove that
MR = AR[l 4 LJ
€aq

where MR, AR and e; represent
marginal revenue, average revenue and
price elasticity of demand respectively.

SRS A A eR| B 2me 7 @

MR = AR(l = LJ
€4

TS MR, AR ©I% e,; Q@ &4 Hfes M, C
S HiE 7 bR el Ieke |

(b) If the demand function is D = 20(P+1)'1,
find price elasticity of demand at P = 3.
D=20(P+1)”" oW ¥R P=3 e W
wifewl RfowRee fdg 4 |

(c) Prove that the maximum value of

1A . e
Y = Xx+—1s less than its minimum value.
X%

ﬁmqwmyzmlaﬂﬁémmaﬁé
X
TS 9 |
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(7V))

(d) Given the producer’s supply function
x=+-4+4P and market price P=10,
find the producer’s surplus.

were Wl TUME @IS T x = —4 + 4P
o qEE 9H P =10 20, Teomed Sge ffy
24 |

(e) Define ‘primal’ and ‘dual’ of linear
programme and show its relationship
with the help of an example.
a3 FRER ‘A He ‘tae’q e fore
w1 @51 TrRael TR A& AT (YT |

() 1f I(t) =2 crores of rupees per year, what
will be the capital formation in the
period of 4 years and also in the 4th
year? : '
M 46 /A If) =2 @M TN W, [0S
4 32F© Yo e AR FEE 279 o e
(4th) 327 97 27 2

4. Answer the following questions : 10x4=40

weTo frdl 2pieed Bed foid

(@) () In a perfectly competitive market,
the price of a product (Q) is ¥ 3 and
the total cost (C) of a firm is given by

C=%Q3 -40% +100+10
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(8)

Find profit maximizing output and
maximum profit.

A aferrerEe @E 93T wWH afs
(569 (Q) 7 3 Tl | AP @%eIs [0 I/
Fae

c:%(_)3 -402 +100+10
2@ P S SR @El SRAMR AR

F S S folofy F41 |

(ii) The total cost function of a firm is
given below :

CEOETO 20416

Find out the level of output at
which average variable cost (AVC) is
minimum and also show that
MC = AVC at that level of output.
5+5=10

Tl g Q< o T T wero foE
SRR

C'=0%=702420+16

TS RS e T (AVC) Trrod @[l
TAAY AR Sferea W (e @
72 TeoMee MC = AVC 29 |
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(9)

Or / H24]

The demand functions (A and P,) and
total cost function (C) of a monopoly in
two different markets are P = 80 -5Q;,
P, =180-20Q, and C =50 +200, where
QO=0Q; +Q,. Find the—

(i) profit maximizing output to be sold
in first and second markets;
(i) equilibrium prices of first and
second markets;
(i) maximum profit. 10
GFCOIoA1 IR TR g3 o Twee oifEa T
(P, WF P,) WI® I I8 o (C) fan (==
P =80-50Q;, P,=180-20Q, W%
C=50+200, 7S Q = Q) +Q,. g F1—
() @A RS g A e @@l
TR AR
(i) TCAI TSRS SRR I
(iii) T & |
(b) (i) Define linearly homogeneous
production function.

72 SCATET Seel Fere sikel e |

(i) 1f the production function is
Q:lOK‘j"«/f, where O, K. ..L
represent output, capital and labour
respectively, verify = whether it
satisfies the Euler’s theorem or not.
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(10 )

MM TATE TG Q =10K 4L =,
TS Q, K, L 9 THHEH AW, JFLH
HF AT JEE, oRW A 4R TesAwA
FEACH12 2GR T STEE A (T A2 |
(i) If the total cost (C) is given as
C=0-005x3 -0-02x2 +30x +3000
where x denotes output, find—

(1) average cost of output, when

x =10;
(2) marginal cost of output, when
x=3. 2+4+4=10

I I (C) TS 7l 4o
C=0-005x> -0-02x? +30x +3000
'S x 9 B JEiRCR | Fefy Fa—

(1) o8 Teemw 971, @feam x =10 =23;
(2) = Seome am, @l x =32 |

Or / Jq11

(i) If the marginal cost is given by
MC =20 +40Q,. where Q is output,
find the slope of the average
variable cost (AVC).

Afes 9 fran wer. MC =20 +40Q, T'o

Q 9 TRAMA JEIRCT | ST ARSIV IS
Ol (slope) sy 547 |
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(11

(i) Given the marginal propensity to
consume C’(Y)=O-8+O-1Y_%- and
the information that C=Y when
Y =100. Find the consumption
function C(Y). 5+5=10
aqfee  Teem  Tew  fam wwR
C'(Y)=0-8+0-1Y 72 w& fay =z
Y =100 20 C=Y 2’91 Tocalsl Fepe
c(y) fadfa |

(c) Use graphical method to solve the
following linear programming problem : 10

RS (I AFF) /@l s e @ LP
AT FY 4

Minimize C = x; +4x,
subject to

3x, +2x, 212

Or / 9241

What is linear programming? Write its
significance and limitations. 2+4+4=10

@%W%?W@‘ﬁwm
Gl /
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(12 )

(d) For the game with pay-off matrix given
below

Bt 73l pay-off (e =4 I

Player B
B, | By | B3
Player A| 4 -2 4 —4
Ay | 12 8 | -12

(i) determine the best strategies for
players A and B.

i A WIF BI bR TR
CFPTCO! it o |

(i) determine the value of the game.
YR o 1 A foAef=e 0 |

(ii) Is the game fair or strictly
determinable? 10

CHEICH1 O 1 FCORSICE AR oI ?
Or / =<1

(i) Define (= o) :
Two-person constant-sum game

(i) Write a note on the limitations of

the game theory. 4+6=10
Game theoryd AMRZOR €°[{© g
. Gl for |
* % %
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